(B - )

HX[ Eff 3
s m l_ il |:-—l~' -} I S I TA1E [ 5A1E | 7?% [ 8A1E | llﬁlﬁ_i il
F6E # B i
1. KP9E&{E
() ALk -FyrE
AL b (S5400) M10X1 6mm 0000 A/ kg 192 192 192 192 192|
AAAL b (SS400) M12X16mm 0000 A/ kg 176 176 176 176 176
AAAN b (S5400) M10X2Omn 0000 A/ kg 193 193 193 193 193
AL R (S5400) M1 2 X2 O0mn 0000 M/ kg 175 175 175 175 175
AT b (SS400) M14X20m 0000 A/ kg 192 192 192 192 192
AT b (S5400) M16 X2 0mn 0000 A/ kg 151 151 151 151 151
AL (S5400) M10X2 5m 0000 M/ kg 196 196! 196 196 196
AAAN b (S5400) M12X25mm 0000 M/ kg |#msestsh | Sl s | Bl s | S A | semseenos |
AAEAN b (S5400) M14X25m 0000 A/ kg 193 193 193 193 193]
AAAL b (SS400) M16 X2 5mm 0000 M kg |EsessA | $imsssA | Hilmsssh | $ilsEEsh [ sEmwsos
ANAAL R (85400) M10X30mm 0000 A/ kg 197 197 197, 197 197,
AAAL b (S5400) M1 2 X3 0mn 0000 B/ kg |@EsessA | ®igEsA | Hlmsssh | $lsEEsh [simwsos
AAAL b (S5400) M14X30mm 0000 A/ kg 191 191 191 191 191
ANAAL b (85400) M1 6 X3 0mm 0000 A/ kg |Wmsessh | Himgess A | Wi A | i A | emEsnos
AAAN b (S5400) M2 0 X3 Omn 0000 A/ kg 150 150! 150, 150 150,
AAAFL b (S5400) M2 2 X3 0mn 0000 B/ kg 156 156! 156| 156 156|
AAAFL b (S5400) M24X30m 0000 B/ kg 161 161 161 161 161
FAAAL b (S5400) M10X35mm 0000 M/ kg |EseEsA | $ilgEA | HEEEA | $lEEA [HifEsos
AAAFN b (SS400) M12X35mm 0000 B kg |thimsessh | Hifvess s | s A | $iisess A | HimsEEos
AAAL R (S5400) M14X35m 0000 M/ kg 193 193 193 193 193
AAAL b (S5400) M16X35mm 0000 B/ kg |t@EEEsA | HigEEA | HEEEA | HEEEA | HiEEsos
AL R (S5400) M2 0 X3 5mm 0000 A/ kg 150 150! 150, 150 150,
AN b (SS400) M2 2 X3 5mm 0000 A/ kg 156 156 156 156! 156
AAAL b (SS400) M2 4 X3 5m 0000 A/ kg 160 160! 160, 160 160,
NAAFN b (S5400) M10X4Omm 0000 M kg |EgessA | HigeEs A | Wil A | i A | SmEenos
ANAAL b (SS400) M1 2 X4 0mn 0000 M/ kg |msessh | $ilgEs A | HlEEsh | $lEEsh | simEsos
AAAL R (S5400) M14 X4 O0mn 0000 A/ kg 192 192 192 192 192
ANAAL b (S5400) M16 X4 0mm 0000 M kg |#@EseEsA | HifEsA | HilEssA | $ilsEEs A [sEwsos
AEAN b (S5400) M2 0 X4 Omn 0000 M/ kg |EsesA | HieeEs A | Wi A | s A | HamEsnos
AAAL bk (SS400) M2 2 X4 Omn 0000 M/ kg 156 1561 156, 156 156,
ANAAL R (S5400) M10X4 5mm 0000 M kg |#EseesA | $ifsEsA | HilsEEs A | $ilsss A [sEmwsos
AEAN b (S5400) M12X45m 0000 M/ kg |WEseHsA | Higess A | WA | s A | »mEsnos
AAAFL R (SS400) M14X45m 0000 M/ kg 194 194 194 194] 194]
16_ 2% #(H26.11.1).ds 1/15
T s (Eiff : /)
s il bt a-p AL 4H1H 5H1H THI1H 8H1H | 11H1H i
AP b (SS400) M16 X4 5mm 0000 B/ kg |imsstsh | $ifgEsh | s A | Hiisss A | eMmEsos
FSAAL b (S5400) M18 X4 5mm 0000 B/ kg 246 246 246| 246 246|
AL E(SS400) M20X4 5m 0000 B/ kg |@Esessh | $igEsh | HlsEEsh | Hlsssh [ HimEsos
AL R (S5400) M2 2 X4 5mm 0000 B kg |tEseEsA | $isEsA | HlEEA | HlEE A [SiEEsos
AAAL b (SS400) M2 4 X4 5m 0000 A/ kg 161 161 161 161 161
AAAL b (SS400) M10X50mm 0000 M/ kg |mseEsh | HlgEsA | HlEEs A | HlEEs A [ HisEsos
FAAAIL b (S5400) M1 2X50mm 0000 B kg |ESEEsA | $igEsA | HEEEA | HEEEA [ SiEEsos
AL b (S5400) M14X50m 0000 M/ kg 193 193 193 193 193]
AAAVL b (55400) M16X5Om 0000 B/ ks mmmm%
AN E(SS400) M18X50mm 0000 B/ kg 246 246 246| 246) 246,
AEHANL b (SS400) M20X50mm 0000 M/ kg |tEsersh | HlseEs A | HlsEsh | HlEssh [ HimEsos
AAAL R (SS400) M2 2 X5 0mm 0000 M kg |mEseEsA | $ilgEsA | HEEEA | HEEEA [HifEsos
ANAAL R (S5400) M2 4 X5 0mm 0000 M kg |@EsEEsA | HifEsA | HEEEsA | HilEEs A [sEwsos
ANFAAL R (S5400) M3 0 X5 0mm 0000 A/ kg 213 213 213 213 213
AAFN B (SS400) M10X55mm 0000 M kg |EsessA | HimsssA | HlmsssA | HlsEEs A [siEmssos
AEANL b (85400) M12X55mm 0000 A/ kg |msersA | $ilgess A | e A | s A | $mEsnos
ANAAL R (85400) M14 X5 5mm 0000 M/ kg 193 193 193, 193 193]
AEAN b (S5400) M16X55mm 0000 A/ kg |tmsestsh | Himgers s | Bl f | B A | samwesnon |
AAAL b (85400) M1 8 X5 5mm 0000 A/ kg 246 246 246 246 246|
AAAL R (85400) M2 0 X5 5mm 0000 A kg |tmsestsh | Hilgers s | Bl A | Himsss A | smwesnon |
APV B (SS400) M22X55m 0000 B/ ke 156 156 156| 156 156
AL b (85400) M2 4 X5 5m 0000 A/ kg 161 161 161 161 161
AfHAL b (S5400) M30X55m 0000 B/ ke 213 213 213 213| 213]
AAAFLE(SS400) M10X6Omm 0000 B/ kg |iEsessh | $ifgas A | s s | Hisssh [ HifEson
AEHANL b (SS400) M12X6Omm 0000 M/ kg |Eseesh | HEseEs A | HlsEsh | Hlsssh [ HimEsos
AAAL R (SS400) M14 X6 0mn 0000 A/ kg 193 193 193 193 193
NAEAN B (S5400) M16 X6 Omm 0000 B/ kg | wmsessh | imesss | wimesss | wimesss | oo |
SAAFLE(SS400) M1 8 X6 Omm 0000 A/ kg 246 246 246 246 246|
SEAN b (S5400) M2 0 X6 Omm 0000 B kg |ESEEsA | $lSEA | HEEEA | HEEEA [HEEss
AAAN b (S5400) M2 2 X6 Omm 0000 M kg |@EgeHsA | HilgeEs A | WA | WA | ®mEenos
AAAL R (S5400) M2 4 X6 0mm 0000 M kg |ESESA | HEEHIA | HEEHIA | HEEHIA | HiEEs0s
AL (S5400) M3 0 X6 O0mn 0000 M/ kg 213 213 213 213 213
ANAAL b (SS400) M3 6 X6 0mm 0000 A/ kg 237 237 237 237 237
AAAL bk (SS400) M10 X6 5mm 0000 B kg |EseEsA | $lgEA | HEEEA | HEEEA [HiFmEsos
SAAL R (S5400) M1 2 X6 5mm 0000 M/ kg |EsEEsA | $iSEsA | HEEEA | HEEEA [ HEEss
SAFL b (SS400) M14X65m 0000 A/ kg 193 193 193 193 193
NEAN b (S5400) M16 X6 5mm 0000 M/ kg |w@Esersa | mwessa | wilsessa | Himwessa | samesnon |

16_HHEER (B(H26.11.1).ds 2/15

155



(A - F9)

HX[ Eff 3
aka il ap | a-p | B E T T SATE 7?% [8A1H [ AT il

AAAIL R (S5400) M1 8 X6 5mm 0000 A/ kg 246 246 246| 246 246|
AL b (S5400) M2 0 X6 5mm 0000 A/ kg |msesA | HiseEs A | Hilsers A | Hilsess A [ HEmEsion
AAEAN b (S5400) M2 2 X6 5mm 0000 B/ kg |msersh | $ilgEsA | HlEssh | HlEEsh [ sisgsos
AAFN R (SS400) M2 4 X6 5mm 0000 M kg |@ESEsA | HiEEA | HEEEA | HEEEA [ HiFEEsos
AL (S5400) M3 0 X6 5m 0000 A/ kg 213 213 213 213 213
AEAN b (S5400) M3 6 X6 5mm 0000 M/ kg 237 237 237 237 237
ARV b (SS400) M10X7Omm 0000 M kg |ESEEsA | $lSEIA | HEREEA | HEEEA [HiFfEsos
AAEAN b (S5400) M12X7Omm 0000 M kg |EsesA | HigeEs A | WA | WA | $mEenos
AAAL b (SS400) M14X7Om 0000 A/ kg 194 194 194/ 194] 194
AR b (SS400) M16 X7 Omm 0000 B/ kg |imsessh | $iligEs A | HileEsf | HiEss A aﬁmmonl |
AEANL R (S5400) M18X70mm 0000 M/ kg 246 246 246 246 246
AEAFN b (SS400) M20X7 Omm 0000 A/ kg |tiEseEsA | $ilgeEs A | 9 F | Hiisss A | »Esnos
AAAIL b (S5400) M2 2 X7 Omm 0000 B/ kg |#EseesA | $ifsEs A | HlsEs A | HilEss A [SEmwsos
AAAN b (S5400) M2 4 X7 Omm 0000 A/ kg |imgersA | Higess A | e A | e A | SmEsnos
AAFN b (SS400) M3 0 X7 Omm 0000 B/ kg |EsessA | ®imgssA | Himsssh | HilsEssh [ sEssnos
ANAAL b (85400) M3 6 X7 Omm 0000 A/ kg 237 237 237 237 237,
AAAN b (S5400) M10X75mm 0000 A/ kg |imsessh | Himgers A | Wi A | Himsess A | omEsnos
AN E(SS400) M1 2X7 5mm 0000 B/ kg |imsstsh | $ifgrsh | s A | Hiisss A | emEsios
AAAL b (S5400) M14X75m 0000 A/ kg 193 193 193 193 193]
AAEAN b (S5400) M16 X7 5mm 0000 M/ kg |wEsesh | simesss | wimesss | wisesss | oo |
AL b (S5400) M1 8 X7 5mm 0000 A/ kg 246 246 246 246 246|
AL b (SS400) M20X75mm 0000 B kg |EweEsh | Higess A | s A | s 5 mﬁimoﬂl |
AAAN b (S5400) M2 2 X7 5mm 0000 A/ kg 156 156 156, 156 156,
AL R (S5400) M2 4 X7 5mm 0000 M/ kg 161 161 161 161 161]
ANAAL R (85400) M3 0 X7 5mm 0000 A/ kg 213 213 213 213 213
AEAN b (S5400) M3 6 X7 5mm 0000 A/ kg 237 237 237 237 237
NAEAFN b (S5400) M10X8 Omm 0000 M kg |@msessA | Hilgers A | WA | HiseEs A | $mEenos
AAAL b (SS400) M1 2 X8 Omm 0000 M kg |EseHsA | HigeEs A | WA | WA | SmEsnos
AAAL b (SS400) M14 X8 Omn 0000 A/ kg 222 222 222 222 222
AL b (S5400) M1 6 X8 Omm 0000 A/ kg |EsesA | HiseEs A | Hilsers A | HilseEs A | HiEmEsion
AAEAN b (S5400) M1 8 X8 Omm 0000 A/ kg 246 246 246 246 246
AR b (SS400) M2 0 X8 Omm 0000 M kg |ESEESA | $ESHIA | HEEEIA | HEEHA [ HiEEs08
ASAAFL b (SS400) M2 2 X8 Omm 0000 B/ kg |Egessh | Hifives s | e A | e A | $mEeos
AEAN B (S5400) M2 4 X8 Omm 0000 M kg |mEseEsA | $lsEsA | HEEEA | HEEEA [ HifEsos
AAAFL b (S5400) M3 0 X8 0mm 0000 B/ kg 3 34 | ifEE A | BiEE A | SEwEsnos
AAAFL b (S5400) M3 6 X8 Omm 0000 A/ kg 237 237 237, 237 237,
FAAAL b (S5400) M4 2 X8 Omm 0000 A/ kg 261 261 261 261 261

16_H % 28 (#(H26.11.1).ds 3/15

o s (Eiff : /)
aka il bt a-p AL 4H1H 5H1H 7TH1H | 8HIH umﬁ_l i

AAFNVE(S5400) M10X8 5mm 0000 B/ kg 226 226 226 226 226
FSAAL b (S5400) M1 2 X8 5mm 0000 B kg |0@FE3A | HifigersF | #eess f | #eesF | $fgson
AEANE(SS400) M14X85m 0000 B/ kg 222 222 222 222 222
AL R (S5400) M16 X8 5mm 0000 B kg |tEseEsA | $igEsA | HlEEA | HlEEA [SiEEsos
AAAIL b (S5400) M1 8 X8 5mm 0000 A/ kg 246 246 246| 246 246
AAEAN b (S5400) M20 X8 5mm 0000 M/ kg |imsessh | HifgEs A aﬁﬁmﬂlwmimﬂ Mﬁiﬂloﬂl
AAAL b (SS400) M2 2 X8 5mm 0000 A/ kg 156 156, 156, 156 156
AAAL R (S5400) M2 4 X8 5mm 0000 M/ kg 161 161 161 161 161
AAANE(S5400) M3 0 X8 5mm 0000 M/ kg 213 213 213 213 213
ARV b (SS400) M10X9 Omm 0000 M kg |ESEEsA | $lSEIA | HEREEA | HEEEA [HiFfEsos
AAAN b (S5400) M12X9 Omm 0000 M kg |@EseHsA | HilveEs A | WA | WA | $mEenos
AAAL b (SS400) M14X9 Omn 0000 A/ kg 222 222 222 222 222
AAAFN b (SS400) M16X9 Omm 0000 B/ kg |iEsessA | $ilgEs A | Hiises s | Hiisss A | o8
AT b (SS400) M18X9 Omn 0000 A/ kg 246 246 246 246 246!
NEAN b (SS400) M2 0 X9 Omm 0000 B/ kg |@EseEsA | $igEsA | HlEEs A | HlEEs A | SimEsos
AfAN b (55400) M22X9 Omm 0000 B/ ke |$EgestsA | $ifigess A | e A | s | »isson
AEANE (SS400) M24 X9 0mn 0000 B/ kg |@Esessh | $igEs A | HsEsh | HlsEsh [ SimEsos
AEAFN b (SS400) M30X9 Omm 0000 A/ kg |iEseEsA | $iligEs A | S A | Hiisss A | »Esnos
AL b (SS400) M3 6 X9 Omm 0000 B/ kg 237 237 237 237 237
AEANE(SS400) M4 2 X9 Omn 0000 B/ kg 261 261 261 261 261
AEAN b (SS400) M10X100mm 0000 B/ kg |iEsessA | g A | Hises A | HiisEss A | »ifEsos
AEAN B (S5400) M12X100m 0000 B ke | sy | 34 | WifEE A | HiEE A [ HfmEsnos
AP b (SS400) M14X100mm 0000 B/ kg 222 222 222 222 222
AAAFIL b (S5400) M16X100m 0000 B/ kg 3 34 | iR A | HiEE A | SEEshos
AAAFL b (S5400) M18X100m 0000 A kg 246 246 246 246 246|
AAAL R (SS400) M20X100m 0000 M kg |mEseEsA | $ilgEsA | HEEEA | HEEEA [HifEsos
NAEAN B (S5400) M22X100m 0000 M kg |@mseHsA | $ilvess A | HieeEs A | H s A | $mEeos
AAEAN b (S5400) M24X100m 0000 A/ kg |tiEgeHsA | HigeEs A | e A | s A | SmEsnos
AAAFN b (SS400) M30X100m 0000 B kg |EsessA | ®imsEsA | HlmsssA | HilsEEsh [sEmwsos
AL (S5400) M3 6 X100m 0000 A/ kg 237 237 237 237 237,
ANAAL b (SS400) M4 2X100m 0000 M/ kg 261 261 261 261 261
AAAL F(S5400) M4 8 X100m 0000 M/ kg 284 284 284 284| 284/
AAAL b (85400) M10X110m 0000 M/ kg |#EsessA | ®imsssA | HilmsEssh | »ilmsEssh [ sEwsos
AAAN b (S5400) M12X110m 0000 A/ kg |imsessh | Himgers A | Wi A | Himsess A | omEsnos
AEAFN b (SS400) M14X110m 0000 B/ kg 222 222 222 222 222
ANAAL b (85400) M16X110m 0000 M/ kg |mgessA | Hilgess A | Hilsess A | 9 A | ®mEenos
AL b (SS400) M18X110m 0000 A/ kg 246 246 246 246 246

156

16_ K ER ((H26.11.1).ds 4/15



(B - )

HX[ Eff 3
g kil a-p | s | P ETE T SATE T 7AI6 [ 8AIE [ TIALA il
AAFIL b (S5400) M20X110m 0000 M ke |tESEEsA | $igEA | HEEEA | HEEEA [ HiFEEsos
ASAAFNL b (SS400) M22X110mm 0000 B/ kg |iEsessh | $ifgEs A | HifsEs A | Hiisss A | »imwsos
AAFNE(SS400) M24X110mm 0000 M/ kg |Eseesh | $lgEsA | HEEE A | HlEE A [ HimEsos
ARV b (SS400) M30X110m 0000 M kg |ESEESA | $ESHIA | HEEEIA | HEEEA [ HEEs08
AAAL b (SS400) M3 6X110mm 0000 M/ kg 237 237 237 237 237,
AAEAN b (S5400) M42X110m 0000 A/ kg 261 261 261 261 261
AAAIL b (SS400) M48X110m 0000 M/ kg 284 284 284 284| 284]
AAAN B (S5400) M10X120mm 0000 A kg |@msessA | Higess A | HieeEs A | H s A | $mEenos
AP b (SS400) M12X120mm 0000 B/ kg |EseesA | $ilgEsA | HlEEs A | HlEEsh | simEsos
AL (S5400) M14X120m 0000 A/ kg 222 222 222, 222 222
AAAL b (S5400) M16X120m 0000 M kg |EgHsA | HigeEs A | WA | HiseEs A | SmEsnos
AAAL b (55400) M18X120m 0000 M/ kg 246 246 246, 246 246
NAAN B (S5400) M20X120m 0000 A kg |#msessA | Hilgess A | Wil A | 9 A | $mEenos
AAEAN B (S5400) M22X120m 0000 B/ kg |Wimsessh | Himgess A | Wimsess A | i A | »mEsnos
AL R (S5400) M24X120m 0000 M kg |ESEEsA | HifsEsA | HEEEsA | HlEEsA [ SEwsos
ANAAL R (85400) M30X120m 0000 A/ kg |mgeHsA | Hilgess A | Hieess A | 9 A | SmEsnos
AAAN B (S5400) M36X120mm 0000 A/ kg 237 237 237 237 237,
AEANL b (S5400) M42X120m 0000 A/ kg 261 261 261 261 261
AEAN B (85400) M4 8X120m 0000 A/ kg 284 284 284 284 284
AAAL b (85400) M10X130m 0000 B/ kg |msessA | HmsssA | Hlmsssh | HlsEEsh [ simssos
NEAN b (S5400) M12X130m 0000 A kg |msessA | HilveEs A | Hieess A | 9 A | $mEenos
AAEAN B (S5400) M14X130m 0000 M/ kg 223 223 223 223 223
AR b (SS400) M16X130mm 0000 M/ kg | wiEsesh | simesss | wimesss | wiesss | oo |
SAFL b (SS400) M18X130m 0000 A/ kg 246 246 246 246 246
FAAL b (S5400) M20X130m 0000 B/ kg |@EsEsA | HigEEsA | HlEEsA | HlEEsh | siEEsos
SAAL b (SS400) M2 2X130m 0000 B kg |EseesA | ®ifgssA | HilEssh | HilgEsh [ sEmwsos
AAAN b (S5400) M24X130m 0000 M/ kg |tEsHsA | HigeEs A | WieeEs A | H s A | SmEsnos
AAEAN R (S5400) M30X130m 0000 M kg |@ESEsA | HEEEIA | HEEHIA | HEEHIA [ HiEEsos
AL (S5400) M3 6 X130mm 0000 M/ kg 237 237 237 237 237,
AAAN b (S5400) M42X130mm 0000 A/ kg 261 261 261 261 261
AAAL R (SS400) M4 8 X1 30m 0000 M/ kg 284 284 284 284| 284]
ASAAFN B (S5400) M10X140m 0000 A kg |mgessA | Higers A | WA | Hiisess A | SmEenos
AP b (SS400) M12X140m 0000 M/ kg |EseHsA | Higess A | WA | WA | »mEsnos
AAAFL b (SS400) M14X140m 0000 A/ kg 222 222 222 222 222
AAAN b (S5400) M16X140m 0000 M kg |@EseHsA | HilgeEs A | WA | WA | $mEenos
AAEAN b (S5400) M18X140m 0000 A/ kg 246 246 246 246 246
FSAEAL b (S5400) M20X140mm 0000 B kg |iEsessA | $ilgEs A &giﬁsﬂlﬂbgigsn aﬁmmoﬂ
16_H % 28 (#(H26.11.1).ds 5/15
o s (Eiff : /)
aka il bt a-p AL 4H1H 5H1H THI1H 8H1H 11H1H i
AP b (SS400) M22X140mm 0000 B/ kg |imsstsh | $ifgEsh | s A | Hiisss A | eMmEsos
FSAAL b (S5400) M24X140m 0000 B kg |0@FE3A | HigersF | $eess f | #ies s | $ifgsos
AEANE(SS400) M30X140m 0000 B/ kg |@Esessh | $igEsh | HlsEssh | HlEssh [ SimEsos
AL R (S5400) M36X140m 0000 A/ kg 237 237 237 237, 237,
AAAL b (SS400) M4 2X140m 0000 A/ kg 261 261 261 261 261
AAEAN b (S5400) M48X140m 0000 B/ kg 284 284 284| 284 284|
AN b (SS400) M10X150mm 0000 M kg |ESEESA | $ESHIA | HEEEIA | HEEHA [ HiEEs0s
SAAFL b (SS400) M12X150mm 0000 B/ kg |imsestsh | $ifgrs A | HifsEs s | Hiisss A | »mgsos
AAEAN b (S5400) M14X150m 0000 A/ kg 223 223 223 223 223
ARV b (SS400) M16X150mm 0000 M/ kg |Esersh | wimsesss | wimens s | wimsens A | smeson |
AL R (S5400) M18X150mm 0000 A/ kg 246 246 246! 246 246
AP b (SS400) M20X150mm 0000 M/ kg |EsEEsA | $lgEA | HEEEA | HEEEA [ HifEsos
AfAN b (55400) M22X150mm 0000 B/ ke |$EgestsA | $ifigess A | Hfeessh | Hess s | »ifsson
AEANE (SS400) M24X150m 0000 B/ kg |Esessh | $igEsh | Hsssh | Hsssh [ »imEson
AP b (SS400) M30X150mm 0000 B/ kg |imsstsh | $ifgEsh | HieEs A | Hiisss A | eMmEsos
FSAAL b (S5400) M3 6X150mm 0000 B/ kg 237 237 237 237, 237,
AP b (SS400) M42X150mm 0000 B/ kg 261 261 261 261 261
AL R (S5400) M48X150mm 0000 A/ kg 284 284 284 284] 284
AAAL b (SS400) M10X160m 0000 A/ kg 226 226 22_6| 226 226
ASAAFL b (SS400) M12X160mm 0000 M/ kg |mEseEsA | HlgEsA | HlEEs A | HlEEs A [ HisEsos
AAAL b (SS400) M14X160m 0000 A/ kg 222 222 222 222 222
ANEAN b (S5400) M16X160m 0000 M kg |@ESEEsA | $ifsEsA | HEEEA | HEEEA [HEEsos
AAANE(S5400) M18X160m 0000 M/ kg 218 218 218 218 218
AAFN B (SS400) M20X160mm 0000 M/ kg |ESEsA | HgEA | HEEEA | HEEEA [ HiFEEsos
AEANL b (S5400) M2 2X160m 0000 M kg |@EseesA | $imsssA | HilEssA | HilEsEEs A [sEmwsos
ANAAL b (SS400) M24X160m 0000 A/ kg |imsessA | Higess A | Wieess A | 9 A | SmEsnos
AAAFN B (SS400) M30X160m 0000 B kg |EsessA | HimsEsA | HlsEssh | HlsEsh [sEssnos
AL b (S5400) M3 6 X160m 0000 M/ kg 237 237 237 237 237,
AAAL b (SS400) M4 2X160m 0000 A/ kg 261 261 261 261 261
AAAL b (55400) M4 8 X160m 0000 M/ kg 284 284 284 284| 284
AEAN B (S5400) M10X170m 0000 A/ kg 223 223 223 223 223
AP b (SS400) M12X170mm 0000 B/ kg |thimsestsh | $ifgrs s | s A | Hiisss s | »mgEsos
AAAIL b (S5400) M14X170m 0000 M/ kg 222 222 222 222 222
AL b (SS400) M16X170mm 0000 B kg |0@FE3A | HiiigersF | $eess f | iessF | $fgsos
~AFN b (SS400) M18X170mm 0000 B/ kg 218 218 218 218 218
ASEAN b (SS400) M20X170mm 0000 A/ kg |HiEsssA | $ilgEs A | S s | Hiisss A | »iEsnos
AAAFLE(SS400) M22X170mm 0000 B/ kg |imsessh | $ifigrs A | S A | Hiisss A | »imgsos

16_HHEER ((H26.11.1).ds 6/15

157



(B - )

HX[ Eff 3
s o ap | s | P ETE T SATE T 7AI6 [ 8AIE [ TIALA il
AAAIL R (S5400) M24X170mm 0000 B kg |tHEseEsA | $igEsA | HEEEA | HlEEA [ HiEsos
AL b (S5400) M30X170mm 0000 B/ kg |Eseesh | $igEs A | HilEEs A | HilEEs A [ sEmgsos
AAAL b (SS400) M36X170mm 0000 B/ kg 237 237 237 237 237
AAAL R (S5400) M4 2X170m 0000 A/ kg 261 261 261 261 261
AL (S5400) M4 8 X17O0mm 0000 A/ kg 284 284 284 284| 284|
AL R (S5400) M10X180m 0000 A/ kg 225 225 225 225 225
AAFN B (SS400) M12X180m 0000 M/ kg |ESEEsA | HEEA | HEEEA | HEEEA [ HiFEEsos
AL (S5400) M14X180m 0000 M/ kg 222 222 222 222 222
ANFAAL R (S5400) M16X180m 0000 A/ kg |#@EseetsA | HimsEssA | HilmsEssa | HilmgEssh [ sEwson
AL R (55400) M18X18O0m 0000 M/ kg 218 218 218 218 218
AAEAN b (S5400) M20X180m 0000 M kg |msessA | Hilgess A | WA | H i A | $mEenos
AAAL b (SS400) M2 2X180m 0000 M kg |ESEESA | $EEEIA | HEEEIA | HEEHA [ HifEsos
FAAAIL b (S5400) M24X180m 0000 B kg |EseEsA | $isEsA | HilEEs A | HilEEsh [ smEsos
ANAAL b (SS400) M30X180m 0000 M kg |#@EsersA | HiEEEsA | HilEEs A | HEEEs A [sEwson
AAAL b (S5400) M3 6X180mm 0000 A/ kg 237 237 237 237 237
AL (S5400) M4 2 X180m 0000 A/ kg 261 261 261 261 261
ANAAL b (SS400) M48X180m 0000 A/ kg 285 285 285 285 285
AAAL b (S5400) M10X190m 0000 A/ kg 225 225 225 225 225
AAAFN R (SS400) M12X190m 0000 M kg |t@gesA | Higess A | e A | H i A | SmEenos
AAAL b (S5400) M14X190m 0000 A/ kg 222 222 222 222 222
AAAL b (S5400) M16X190m 0000 M/ kg |@EsessA | HimsEsA | HlmsssA | HlsEEs A [sEssos
AL b (S5400) M18X190m 0000 M/ kg 218 218 218 218 218
ANAAL b (SS400) M20X190m 0000 A kg |w@EsessA | Himsssa | wimsEssh | »ilmsEssh [ sEwsos
AAAL b (85400) M2 2X190m 0000 B/ kg |#mEsessA | ®imsssA | Hlmsssh | HlsEEsh [ sEmssnos
AL (S5400) M24X190m 0000 B/ kg |#EsessA | wimsssA | Himsssh | »ilmsEssh [ sEwsnos
AAEANE (SS400) M30X190m 0000 B/ kg |Esessh | $igEsh | Hsssh | Hsssh [ $imEson
AAAIL b (55400) M36X190m 0000 A/ kg 237 237 237 237 237
AL b (SS400) M4 2X190m 0000 A/ kg 261 261 261 261 261
AAAL b (SS400) M48X190m 0000 B/ kg 285 285 285 285 285
FAAAL R (S5400) M10X200m 0000 A/ kg 226 226 226 226 226
AL b (S5400) M12X200m 0000 B/ kg |Eseesh | $igEs A | HilEEs A | HilEEs A [ sEmgsos
AAAL b (SS400) M14X200m 0000 B/ kg 223 223 223 223 223
AAAIL b (SS400) M16X200m 0000 B kg |ESEEsA | $lSEA | HEEEA | HEEEA [HiFEEsos
ASAAL b (SS400) M18X200m 0000 A/ kg 218 218 218 218 218
FAAL b (S5400) M20X200m 0000 M/ kg |EsEEsA | $lgEA | HEEEA | HEEEA [ HifEsos
AN b (55400) M22X20Omm 0000 B/ ke |$EgestsA | $ifigess A | feess A | Hess | »iiseon
AT b (SS400) M24X200m 0000 A/ kg |EseesA | ®iEsEssa | HilsEssh | HilEEssh [sEmwsos
16_ M 2 ((H26.11.1).ds 7/15
T s (Eiff : /)
aka il bt a-p AL 4H1H 5H1H THI1H 8H1H 11H1H iid
AP b (SS400) M3 0X200mm 0000 B/ kg |imsstsh | $ifgEsh | HieEs A | Hiisss A | eMmEsos
FSAAL b (S5400) M3 6X200mm 0000 B/ kg 237 237 237 237, 237
AEANE(SS400) M42X200m 0000 B/ kg 261 261 261 261 261
AL R (S5400) M4 8 X200m 0000 A/ kg 285 285 285 285 285
AAAL b (SS400) M4 2X220m 0000 A/ kg 261 261 261 261 261
AAAL b (SS400) M48X220m 0000 B/ kg 285 285 285 285 285
AAAL b (SS400) M4 2X240m 0000 A/ kg 261 261 261 261 261
AAAL R (S5400) M4 8 X240m 0000 M/ kg 285 285 285 285 285
AAANE(S5400) M4 2X260m 0000 A/ kg 261 261 261 261 261
AAAL R (S5400) M4 8 X2 6 0mm 0000 M/ kg 284 284 284 284 284
AL (S5400) M4 2 X2 8 0mm 0000 A/ kg 261 261 261 261 261
AL R (S5400) M4 8 X2 8 Omm 0000 A/ kg 284 284 284| 284| zsgl
AL R (S5400) M4 2 X300m 0000 A/ kg 261 261 261 261 261
AL b (S5400) M4 8 X3 00mm 0000 M/ kg 285 285 285 285 285|
ANAAL R (SUS304) M8 X 2 Omn 0000 A/ kg 706 706 706 706! 706|
ANAAN R (SUS304) M10X2Omm 0000 M kg |EsessA | ®imsssA | HlmsssA | HlsEs A [siEmssos
AAAL b (SUS304) M1 2 X2 0mm 0000 A/ kg 712 712 712 712 712
AEAN B (SUS304) M8X25m 0000 B/ kg 707 707 707 707 707,
AP b (SUS304) M10X25mm 0000 M kg |ESEEsA | $iEEA | HEEEA | HEEEA [HiFEEsos
AL (SUS304) M1 2 X2 5m 0000 B/ kg 710 710 710 710! 710
AL E(SUS304) M16X25m 0000 B/ kg 663 663 663, 663 663]
AL b (SUS304) M8 X 3 Omn 0000 A/ kg 711 711 711 711 711
AAFNLE(SUS304) M10X3 Omm 0000 B/ kg |iEsessh | $ifigrs A | HifsEs A | Hiisss A | »imEsos
AEANE(SUS304) M12X30m 0000 M/ kg |@EseesA | HlgEsA | HEEEs A | HlEEs A [ SimEsos
AAAL b (SUS304) M16 X3 0mn 0000 A/ kg 663 663 663! 663 663
AL E(SUS304) M8 X 3 5mn 0000 M/ kg 709 709 709 709! 709
AAEAN b (SUS304) M10X35m 0000 M/ kg |EsEsA | Higess A | Wi A | WA | HmEsnos
AAAFL b (SUS304) M1 2 X3 5mm 0000 M kg |@ESEsA | HiEEEA | HEEEA | HEEEA [ HiEEsos
AAFILE(SUS304) M16 X3 5m 0000 M/ kg 664 664 664 664 664|
AL R (SUS304) M8 X 4 Omn 0000 A/ kg 708 708 708 708! 708
AAAL R (SUS304) M10 X4 Omm 0000 B kg |EsessA | ®imsEsA | HlmsssA | HilsEEsh [sEwsos
ANAAL R (SUS304) M1 2 X4 O0mm 0000 A kg |#EsessA | ®imsssA | HilmsEssh | »ilmsEssh [sEwsos
AAAL b (SUS304) M16 X4 Omn 0000 M/ kg 664 664 664 664 664|
AL b (SUS304) M2 0 X4 Omn 0000 M/ kg 711 711 711 711 711
AAAL b (SUS304) M8 X 4 5mn 0000 A/ kg 707 707 707 707 707
AEAN B (SUS304) M10X45m 0000 B kg |imsersA | $ilgeEs A | HilseEs A | Bl A | $mgsos
AAAFLE(SUS304) M12X45mm 0000 B/ ke |Esessh | $iigssh | Hiisssh | HiigEss s [simwsos

16_HHEER ((H26.11.1).ds 8/15

158



(B - )

HX[ Eff 3
ks ol ap | s | P ETE T SATE T 7AI6 [ 8AIE [ TIALA il
ASEANE(SUS304) M16 X4 5mm 0000 B kg |t@EseEsA | $isEsA | HlEEA | HlEE A [SiEEsos
AL (SUS304) M2 0 X4 5mm 0000 M/ kg 704 704 704] 704| 704|
AT b (SUS304) M8 X 5 0mn 0000 B/ kg 711 711 711 711 711
AEAN b (SUS304) M10X50mn 0000 A/ kg 711 711 711 711 711
AAAL bk (SUS304) M1 2 X5 0mm 0000 M kg |#@EsEEsA | HimEsA | HilEssA | HilEEEs A [sEwsos
NAAFN b (SUS304) M16X50mm 0000 M/ kg |EsEsA | HieeEs A | W ieeEs A | H i A | SmEsnos
ANEAN R (SUS304) M2 0 X5 Omn 0000 M/ kg 707 707 707 707 707
AEANL b (SUS304) M8 X 5 5m 0000 A/ kg 709 709! 709 709) 709
AAAL b (SUS304) M10X55mm 0000 A/ kg 712 712 712 712 712
ANAAN R (SUS304) M1 2 X5 5mm 0000 M kg |EsessA | ®imsEsA | HlmsssA | HilsEEs A [siEssos
AAAILE (SUS304) M16X55mm 0000 B kg |EsessA | ®imsssA | HimsEssh | HilmEssh [sEwsos
AAAL b (SUS304) M2 0 X5 5mm 0000 A/ kg 705 705 705 705 705
AAEAN B (SUS304) M8 X 6 Omn 0000 M/ kg 710 710 710 710! 710
AAAL b (SUS304) M10 X6 Omm 0000 A/ kg 709 709 709 709! 709
AP B (SUS304) M12X60m 0000 B/ kg |Egessh | Hifigets s | e A | e A | $mEeos
AEAN b (SUS304) M16 X6 0mm 0000 M kg |ESEEsA | $iEEA | HEEEA | HEEEA [HiFEEsos
AN b (SUS304) M2 0 X6 Omm 0000 B/ kg |iEsessh | $ifgEs A | HifsEs A | Hiisss A | »imwsos
AAAL b (SUS304) M8 X 6 5m 0000 B/ kg 709 709 709 709! 709
AAAL b (SUS304) M10 X6 5mm 0000 A/ kg 711 711 711 711 711
AN b (SUS304) M1 2 X6 5mm 0000 B/ kg |iEsessh | $ifigrs A | HifsEs A | Hiisss A | »imEsos
AEAN E(SUS304) M16X65mm 0000 B/ kg |Esessh | HilgEsA | HlEEs A | HlEEsh [ simEsos
AEAN B (SUS304) M2 0 X6 5mm 0000 M kg |ESEEsA | HiEEEA | HEEEA | HEEEA [ HiEEss
AAFILE(SUS304) M8 X 7 Omn 0000 M/ kg 712 712 712 712 712
AAAL R (SUS304) M10X7Omm 0000 A/ kg 711 711 711 711 711
AAAL R (SUS304) M1 2 X7 Omm 0000 A/ kg 711 711 711 711 711
AL (SUS304) M1 6 X7 Omm 0000 A kg |#EsessA | HimsssA | HilmsEssh | HEEssh [sEwsos
AAAL b (SUS304) M2 0 X7 Omm 0000 A/ kg |@EseetsA | HimsEssa | HilmsEssh | HiEEssh [ sEwson
AL b (SUS304) M8 X 7 5mn 0000 M/ kg 709 709 709 709! 709
AL (SUS304) M10 X7 5mm 0000 M/ kg 711 711 711 711 711
AAAL b (SUS304) M1 2 X7 5mm 0000 A/ kg 712 712 712 712 712
AL (SUS304) M1 6 X7 5mm 0000 M/ kg 662 662 662, 662 662
ANAAL b (SUS304) M2 0 X7 5mm 0000 B/ kg |#mEsessA | ®imsssa | wimsEssh | »ilmsEssh [ sEwsos
AAAL b (SUS304) M8 X 8 Omn 0000 A/ kg 710 710 710 710! 710
ASEAN b (SUS304) M10X8O0mm 0000 B/ kg 711 711 711 711 711
AEAN b (SUS304) M1 2 X8 Omn 0000 A/ kg 711 711 711 711 711
ANEAFN B (SUS304) M16 X8 Omm 0000 B/ kg 660 660 660 660 660!
AEANL . (SUS304) M2 0 X8 Omm 0000 A/ kg 710 710 710 710) 710
16_H % 28 (#(H26.11.1).ds 9/15
T i (Eiff : /)
aka il bt a-p AL 4H1H 5H1H THI1H 8H1H 11H1H iid
ASEAN B (SUS304) M10X85mm 0000 B/ kg 710 710 710 710! 710
AL b (SUS304) M1 2 X8 5mm 0000 B/ kg 711 711 711 711 711
AAAFLE(SUS304) M16X85mm 0000 B/ kg 662 662 662 662 662
AAEAN B (SUS304) M2 0 X8 5mm 0000 A/ kg 709 709 709 709! 709
AAFL b (SUS304) M8 X 9 Omn 0000 A/ kg 711 711 711 711 711
AEANE(SUS304) M10X9 Omm 0000 B/ kg 711 711 711 711 711
AAAFL b (SUS304) M1 2 X9 Omn 0000 A/ kg 712 712 712 712 712
AL (SUS304) M16 X9 Omn 0000 M/ kg 659 659 659! 659 659
AAAL b (SUS304) M2 0 X9 Omm 0000 A/ kg 709 709 709 709! 709
ANEAN R (SUS304) M8 X 10 Omm 0000 M/ kg 711 711 711 711 711
AL (SUS304) M10X10O0m 0000 A/ kg 711 711 711 711 711
AAAL b (SUS304) M12X100m 0000 A/ kg 711 711 711 711 711
AAEAN R (SUS304) M16X100m 0000 A/ kg 663 663 663! 663 663
AAFILE(SUS304) M20X100m 0000 M/ kg 708 708 708 708! 708
ML b (SUS304) M10X35mm 0000 A/ kg 1, 670 1, 670 1, 670 1,670 1, 670
MAV b (SUS304) M1 2 X3 5m 0000 M/ kg 2, 000 2, 000 2, 000 2, 000 2, 000
MA/N b (SUS304) M16X35mm 0000 A/ kg 2, 100 2, 100 2, 100 2, 100 2, 100
ML b (SUS304) M10X40mm 0000 B/ kg 1,610 1,610 1,610 1,610 1,610
mAV b (SUS304) M1 2 X4 Omn 0000 A/ kg 1, 860 1, 860 1, 860 1, 860 1, 860
mAY b (SUS304) M16 X4 0mn 0000 B/ kg 1,940 1,940 1, 940 1,940 1,940
ML b (SUS304) M10X45mm 0000 B/ kg 1,530 1,530 1, 530 1,530 1,530
MmAV b (SUS304) M1 2 X4 5mm 0000 A/ kg 1, 880 1, 880 1, 880 1, 880 1, 880
MAV b (SUS304) M16 X4 5m 0000 M/ kg 1, 940 1, 940 1, 940 1,940 1,940
ML b (SUS304) M10X50mm 0000 A/ kg 1, 500 1, 500 1, 500 1, 500 1, 500
mAV b (SUS304) M1 2 X5 0mn 0000 A/ kg 1, 800 1, 800 1, 800 1, 800 1, 800
mAV b (SUS304) M16 X5 0mm 0000 M/ kg 1, 890 1, 890 1, 890 1, 890 1, 890
MmA/V b (SUS304) M10X55mm 0000 A/ kg 1, 640 1, 640 1, 640 1, 640 1, 640
MAV kb (SUS304) M1 2 X5 5m 0000 A/ kg 1, 890 1, 890 1, 890 1, 890 1, 890
ML b (SUS304) M16 X5 5mm 0000 M/ kg 1, 920 1, 920 1, 920 1,920 1,920
ML b (SUS304) M10 X6 Omm 0000 A/ kg 1, 590 1, 590 1, 590 1, 590 1, 590
ML b (SUS304) M1 2 X6 Omn 0000 M/ kg 1, 800 1, 800 1, 800 1, 800 1, 800
MAV b (SUS304) M1 6 X6 0mm 0000 M/ kg 1, 830 1, 830 1, 830 1, 830 1, 830
ML b (SUS304) M10 X6 5mm 0000 M/ kg 1, 560 1, 560 1, 560 1, 560 1, 560
MAV kb (SUS304) M1 2 X6 5m 0000 M/ kg 1, 770 1, 770 1, 770 1,770 1, 770
MmA/V b (SUS304) M1 6 X6 5mm 0000 A/ kg 1, 820 1, 820 1, 820 1, 820 1, 820
| mRL b (SUS304) M10X70mm 0000 B/ kg 1,540 1,540 1, 540 1,540 1,540
| mAR b (SUS304) M12X70mm 0000 B/ kg 1, 790 1, 790 1, 790 1,790 1,790

16_H PR % {#(H26.11.1).x1s 10/15

159



(B - )

HX[ Eff 3
il ol ] B [ we Mg ropmr T T oA s il
MAV b (SUS304) M1 6 X7 Omm 0000 A/ kg 1, 770 1, 770 1, 770 1,770 1,770
mAV b (SUS304) M10X7 5m 0000 M/ kg 1, 550 1, 550 1, 550 1, 550 1, 550
ML b (SUS304) M12X75mm 0000 B/ kg 1, 700 1, 700 1, 700 1, 700 1, 700
ML+ (SUS304) M16X75mm 0000 A/ kg 1, 720 1, 720 1, 720! 1, 720 1, 720
mAN b (SUS304) M1 2 X8 Omm 0000 A/ kg 1, 650 1, 650 1, 650 1, 650 1, 650
ML b (SUS304) M16 X8 Omm 0000 A/ kg 1, 770 1, 770 1, 770 1,770 1,770
+ v b (SS400) M8 0000 A/ kg 202 202 202 202 202
> b (SS400) M1 0 0000 A/ kg 203 203 203 203 203
F v b (SS400) M1 2 0000 A/ kg 206 206! 206! 206 206]
+ > b (S5400) M14 0000 A/ kg 198 198 198! 198| 198
F > b (S5400) M1 6 0000 A/ kg 162 162 162 162 162
+ > b (SS400) M18 0000 A/ kg 220 220 220 220 220
+ > b (S5400) M2 0 0000 A/ kg 169 169! 169! 169! 169
+ > b (S5400) M2 2 0000 A/ kg 176 176 176| 176, 176]
+ > b (SS400) M2 4 0000 M/ kg 226 226 zzgl 226 zzgl
+ > b (S5400) M30 0000 M/ kg 246 246 246! 246 246
F v b (SS400) M3 6 0000 A/ kg 260 260 260 260 260
F v b (SS400) M4 2 0000 B/ kg 347 347 347 347 347
F v b (85400) M4 8 0000 M/ kg 372 372 372 372 372
+ v b (SUS304) M8 0000 M/ kg 847 847 847, 847 847
F > b (SUS304) M10 0000 B/ kg 1, 008 1, 008 1, 008 1,008 1, 008
F > b (SUS304) M1 2 0000 M/ kg 1,084 1,084 1,084 1,084  1,084]
F v b (SUS304) M1 4 0000 A/ kg 1, 388 1, 388 1, 388 1, 388 1, 388
F v b (SUS304) M1 6 0000 A/ kg 905 905 905! 905, 905!
> b (SUS304) M18 0000 A/ kg 1, 382 1, 382 1, 382 1,382 1, 382
v b (SUS304) M2 0 0000 A/ kg 1,077 1,077 1,077 1,077 1,077
+ v b (SUS304) M2 2 0000 B/ kg 1, 559 1, 559 1, 559! 1,559 1, 559
> b (SUS304) M2 4 0000 A/ kg 1,491 1, 491 1, 491 1,491 1, 491
v b (SUS304) M2 7 0000 A/ kg 1, 489 1, 489 1, 489 1, 489 1, 489
+ v b (SUS304) M30 0000 B/ kg 1,486 1, 486 1, 486/ 1,486 1, 486
+ > b (SUS304) M3 6 0000 A/ kg 1,573 1,573 1, 573 1,573 1,573
+ v b (SUS304) M4 2 0000 A/ kg 1, 541 1, 541 1, 541 1,541 1,541
| &8+ b (S5400) M8 0000 B/ kg 431 431 431 431 431
| 45+ b (SS400) M10 0000 B/ kg 380 380! 380 380! 380
| 453> b (SS400) M1 2 0000 A/ kg 387 387 387 387 387
| $F v b (SS400) M14 0000 B/ kg 593 593 593 593 593
| &+ v b (SS400) M1 6 0000 A/ kg 455 455 455 455 455|

16_H PR % #(H26.11.1).x1s 11/15

— (B - )
ki o a-p] = AL 451H 518 | 7H18 | 818 | 1118 il
| &8+ b (SS400) M2 0 0000 A/ kg 583 583| 583 583 583
| 485> b (SS400) M2 2 0000 A/ kg 621 621 621 621 621
| 485~ b (SS400) M2 4 0000 B/ kg 782 782 782 782 782
| 48 b (S5400) M2 7 0000 A/ kg 966 966 966 966 966
| 87 v b (SUS304) M8 0000 B/ kg 2,444 2, 444 2,444 2,444 2, 444]
| 485 v b (SUS304) M10 0000 A/ kg 2,423 2,423 2,423 2,423 2,423
8+ v b (SUS304) M1 2 0000 A/ kg 2,401 2,401 2, 401 2,401 2, 401
8+ v b (SUS304) M14 0000 A/ kg 3,074 3,074 3,074  3,074] 3,074
5+ v b (SUS304) M1 6 0000 A/ kg 2, 658 2, 658 2, 658 2, 658 2,658
8+ v b+ (SUS304) M2 0 0000 A/ kg 2,848 2,848] 2,848 2, 848 2,848
&£+ v b (SUS304) M2 4 0000 M/ kg 2, 789 2,789 2, 789 2, 789 2,789
] FEERE AL b (SS400) M12X160m 0000 M/ kg 352 352 352 352 352
] FEEBAL B (S5400) M16xX160m 0000 M/ kg 252 252 252 252 252
J FERS AL b (SS400) M12xX200m 0000 M/ kg 313 313 313 313 313
] FEEREAL b (SS400) M16X200m 0000 M/ kg 226 226 226 226 226|
J WAL B (S5400) M20X200m 0000 M/ kg 258 258 258 258 258
J FEER AL b (SS400) M12X250m 0000 M/ kg 319 319 319 319 319
J AL b (SS400) M16X250mm 0000 A/ kg 210 210 210 210, 210
] FE AL b (SS400) M20X250m 0000 A/ kg 242 242 242 242 242
| TR HEEAUL b (SS400) M12xX315m 0000 A/ kg 304 304 304| 304 304|
J R AL | (SS400) M16x315m 0000 B/ kg 200 200 200 200 200
1 WAL b (S5400) M20xX315m 0000 A/ kg 228 228 228 228 228
J R AL b (SS400) M12xX400m 0000 B/ kg 276 276 276 276 276|
] FEER AL b (SS400) M16xX400m 0000 B/ kg 192 192 192 192 192|
1 WAL B (S5400) M20xX400m 0000 A/ kg 214 214 214 214 214
J EREAL b (SS400) M12X500m 0000 A/ kg 264 264 264 264] 264
J R AL b (SS400) M16xX500m 0000 A/ kg 182 182 182 182 182
] WAL b (S5400) M20X500m 0000 A/ kg 203 203 203| 203 203|
] AL b (S5400) M24X500m 0000 M/ kg 202 202 202 202 202|
] FEEBAL B (S5400) M20X630m 0000 M/ kg 203 203 203 203 203
] WAL B (S5400) M24%X630m 0000 M/ kg 205 205 205 205 205
] FEEREAL b (SS400) M20X800m 0000 M/ kg 192 192 192 192 192
J AL b (SS400) M24X800mm 0000 M/ kg 194 194 194 194 194|
] FEEWAL B (S5400) M20X1, 000mm 0000 M/ kg 188 188 188 188 188
J FEER AL b (SS400) M24X1, 000mm 0000 M/ kg 185 185| 185! 185 185
J I EREA L b (SS400) M24X1, 250mm 0000 B/ kg 188 18_B| 188 188 188
LR b (S5400) M12xX160m 0000 B/ kg 374 374 374 374 374

16_H PR % #(H26.11.1).x1s 12/15

160



(B - )

HX[ Eff 3
il o T 2 [ v g reorm T e Tomm ] W5
LigE@AL b (S5400) M12X200m 0000 A/ kg 331 331 331 331 331
LiEHRAL b (SS400) M16X200m 0000 M/ kg 254 254 254| 254| 254]
L R85 L b (SS400) M12X250mm 0000 A/ kg 295 295 295 295 295
LE#AL b (SS400) M16X250mm 0000 A/ kg 225 225 225! 225 225
LA b (SS400) M12X315m 0000 M/ kg 274 274 274 274 274
LR AL b (S5400) M16X315m 0000 M/ kg 216 216 216 216 216
LGE#BAL b (SS400) M20X315m 0000 A/ kg 220 220! 220! 220 220
LiEMA L b (SS400) M12X400m 0000 A/ kg 259 259 259 259 259!
LIZEH AL b (S5400) M16X400mm 0000 M/ kg 205 205 205 205 205
LA L b (S5400) M20X400m 0000 A/ kg 210 210 210 210 210!
LIZER AL b (SS400) M12X500m 0000 M/ kg 236 236 236 236 236
LA/ b (SS400) M16X500mm 0000 B/ kg 189 189 189 189 189
L WM /L b_(S5400) M2 0X500mm 0000 M/ kg 197 197 197! 197 197
( A s
Fo—5—¢110~120 IRF A S SC450 0000 B/ kg 610 610! 610 610 610
| FIA¥y— IRRPASEMS  SC450 0000 M/ kg 610 610 610 610! 610
FEFYr— (F—uH) BRSPS S SC450 0000 A/ kg 610 610 610! 610! 610
Fo—5—¢110~120 Bxvh” /SREEFAS:  SCMn2B 0000 A/ kg 700 700 700 700! 700
Fo—5—¢110~120 /b’ o EREESRE  SQUnCr3B 0000 B/ kg 805 805 805| 805, 805|
Fr—5—¢110~120 JehE)7° 7 vEREEE  SCCrM3B |0000 A/ kg 705 705 705 705 705
AFGARRAEN Y A5 $iEkY) PBC2 0000 B/ kg 2, 300 2, 300 2, 300 2, 300 2, 300
BT A Z L - BEIA SN Sn¥FsEE LBC3 0000 M/ kg 2, 000 2, 000 2, 000 2, 000 2, 000
BT A F L - EEIAFN FémgE BC 3 0000 A/ kg 2, 000 2, 000 2, 000 2, 000 2, 000
BRPAAEE AT &, PR Ab""f‘wﬁ FC200 0000 B/ kg 530 530! 530! 530 530
R RTHESS  FC250 0000 M/ kg 530 530 530 530! 530
=5 RTEHEEBS  FC250 0000 A/ kg 530 530 530 530 530!
BREASH R BEESS  FCD450 0000 A/ kg 935 935 935 935 935!
FRAT R4S (4f8)  FC250 [0000 A/ kg 599 599 599 599 610!
725 v7H RTELEESS (4f)  FC250 (0000 A/ kg 665 665 665 665 665
TOAE (A7) RTHESS (4f)  FC250 {0000 M/ kg 823 823 823 823 823
R BRI EEseS (18)  FCp400 - 450 |0000 B/ kg 927 927 927 927 927
PHRA R BRSPS SC450 0000 B kg 3, 060 3, 060 3, 060 3, 060] 3, 060!
HoFV 7 IRF WS, SC450 0000 B/kg 1, 290 1, 290! 1, 290 1, 290 1, 290
EH 7 (P 210700 - Fof) [KEH  tiaey 0000 B/m3| 151,000 151,000] 151,000] 151,000 151,000
) L bR, AR, ER, REFHIZEELRVWLOLTS,

2. LRCMRReE LR L U, SAFOMERIER ST 5,
3. ABHOBMHIEIm3ILTD,

2E S

pkrs

16_H PR % (#(H26.11.1).x1s 13/15

(Bl - [9)

l |
IJ—b'l = | ¥ e T 7?% R TIE]l "

(3) A7 LAME - W& R UBRBE AR
PRI VSRR~ Ak [SUS304 2= t =3 0000 B kg |#imEsessh | $imsss A | Hilmsssh | HilsEssh [sEmwsos
BREIEAT VSRR~ -Affifk  |SUS304 3S t <6 0000 B/ kg 3 34 | i3 A | WA | HfEREs
BRI EEAT VSRR~ -AffidE  |SUS304 10S t S14 0000 M/ kg |thiEsessA | Hifvess s | e | e A | Himseon
| BBV SRR kR bTkE SUS304_6< t <10 0000 B/ kg 10 10 10, 10, 10|~z 35t =6
REIEAT VSRR AT SUS304 14< t =25 0000 B/ kg 10 10 10, 10 10f-2 105t =14
AR EFEAT YV ASRER kA bTE SUS304  25< t =40 0000 A/ kg 20 20 20 20 20| -2 105 ¢ =14
BREFEATVASRER kA b TE SUS304 _40< t =65 0000 M/ kg 30 30 30 30 30j-2 105t =14
AT v L AR~ -Affikk SUS304 25 ¢ =100 0000 B kg |to@EseEsh | HigEsA | HlEEs A | HlEEs A [ HisEsos
AT v L ASRE ATk SUS304 100< ¢ =150 0000 M/ kg 20 20! 20 20! 20|v -2 252 ¢ =100
AT v L ASRE ATk SUS304  150< ¢ =200 0000 A/ kg 30 30 30 30 30[v -1 252 6 =100
AT v L ASRIE  ~ Ak SUS403 25 ¢ =100 0000 A/ kg 250 250 250 250 380
AT v L ASRE ATk SUS403 _100< ¢ =150 0000 M/ kg 20 20! 20! 20! 20|~ -2 255 ¢ =100
AT v VA AT SUS403 150< ¢ =200 0000 M/ kg 30 30 30 30 30}~-2 255 ¢ =100
AR DR IRAM ~ -A{fi#% |S15C~S50C 25 ¢ =100 0000 kg |HiEFESA | HEEHIA | HEEHA | HEEHA | SEEE0s
B e R BERE 3ah 7 |S15C~S50C 100< ¢ =150 0000 A/ kg 2 2 2 2 2|1 2556 =100
B DR BRRET  XAbIE [SISC~S50C  150= ¢ =200 0000 A/ kg 4 4 4 4 4|v-x 255 ¢ 100
B I R BERA 13 Ah 7 |S15C~S50C  200< ¢ =250 0000 M/ kg 6 6 EI 61 s|«'-x 255 ¢ =100
B e R BERE 3 ah 7 |S15C~S50C  250< ¢ =300 0000 A/ kg 8 8 8| 8| 8|1 2556 =100
#) L Q)OHMHIR—AMETHS, FHEMT I HESRRVURZ Zy TEFIREZITI>Z L,
2. (2):7) fﬁ*ﬂm‘!’usotsoj wﬁmkowﬂiﬂmnwwwﬂ‘? WrEI D B2 b DI 2N THE
i Doz M5,
A
AK&ETL (PEE) 20K 0000 ke 3, 860 3, 860! 3, 860 3, 860 3, 860
| X&ESL (PZ) 20~50 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
T ENTZ) 50~70 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
kg =L (PFE) 205 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860
T EINGTY) 20~50 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
| A#TL (PF) 50~70 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860
K#ET L (L) 2055 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
EXEIND)) 20~50 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860
| AR#TL (L) 50~70 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
K& L (CER) 10455 0000 ke 3, 750 3, 750! 3, 750! 3, 750 3, 750
| K&ETL (CER) 10~30 0000 ke 3, 750 3, 750! 3, 750! 3, 750] 3, 750

161

16_H PR % #(H26.11.1).1s 14/15



(Hff : F9)

Eﬁ |
il ol = [ o T T Tl

) e AR = L0 B e 1. Do e Coh b,

L. B :ARTA (FuoSL—rR)

2. A : 14.7TN_/mm2 (150kg/cm2) LAE

3. WEokit : B TRAS%

4. BEWEFOMO : 300%LL E

5. BEAEE : o3 T ERAEA0~80

WE:1.25g /cm3

(5) /f‘y$z (EpkdL)
RNyFxy (BERAL) 600 108 0000 A/ # 3, 790 3, 790 3, 790 3, 790 *
RNyFxy (BEAL) 600 10#~20% 0000 ./ # 3, 430 3, 430! 3, 430] 3, 430 *
RNyxy (BrIL) 700 10HCK# 0000 A/ # 5, 230 5, 230! 5, 230 5, 230) *
RNyxy (GREAL) 700 10#~20% 0000 =) 4,500 4,500 4, 500 4,500 *
Nyxy (BRTL) 800 10k 0000 =] 7,920 7,920 7, 920! 7, 920] *
NyFxy (BRIL) 800 10#~20%k 0000 =] 7, 200 7, 200 7, 200! 7,200 *
RNyxy (GAL) 900 10#ck:# 0000 [/ 9, 000 9, 000 9, 000 9, 000! *
NyFxy (GEAL) 900 10¥~20f 0000 M # 8, 110 8, 110! 8, 110 8,110 ¥
RyFxy (BRTL) 1,000 10HckR 0000 A/ # 9,910 9,910 9,910 9,910 *
Ryxy (BERIL) 1,000 10#~20% 0000 B/ 9, 000 9, 000 9, 000 9, 000! *
Nyxy (BRRTL) 1,100 108k 0000 A/ # 10, 800 10,800 10,800 10, 800) *
Nyxy (BrThL) 1,100 10#~20% 0000 A/ 9,910 9, 910! 9,910 9,910 *
RNyxy (BRTAL) 1,200 108k 0000 M/ # 11, 700 11,700 11,700  11,700] *
NyFxy (BRTL) 1,200 108~20%# 0000 A/ # 10, 800 10,800 10,800 10, 800) ¥
RNyxy (BrTL) 1, 350 108k 0000 g/ # 13, 900 13,900 13,900 13,900 *
Ryxy (BRERIL) 1, 350 10#~20% 0000 B/ # 12,600 12,600 12,600 12, 600] *
RNyFxy (BRRTL) 1,500 108k 0000 A/ # 14, 400 14,400 14,400 14, 400) ¥
Nyxy (BRIL) 1,500 10#~20# 0000 g/ # 13, 500 13, 500 13, 500 13, 500 *
Ny Fxy (BEkAL) 1,600 10Hck 0000 B 15,600 15,600 15,600 15,600, ¥
RNyxy (BRIL) 1, 600 10#~20%# 0000 A/ # 14, 400 14,400 14,400 14, 400) ¥
Nyxy (BRIL) 1, 650 108k 0000 A/ # 17, 600 17,600 17,600 17, 600! *
RNyxy (GRTL) 1,650 10#c~20%# 0000 =) 16, 200 16, 200 16, 200 16, 200 *
RNyFxy (GEAL) 1,800 10Hcki 0000 =] 18,900/ 18,900 18,900 18,900 ¥
RNyFy (G L) 1,800 10H~20# 0000 =] 18,200 18,200 18,200 18, 200, *
RNyFxy (GEAL) 2,000 10#cHKH 0000 B8 21,600 21,600 21,600 21,600 ¥
Nyxy (BRTAL) 2,000 10$~20# 0000 M/ # 15, 800 15,800 15,800 15, 800) *
RyFxy (BRTL) 1, 800X 2, 600 _10HCK# 0000 M/ # 10,800 10,800 10,800 10, 800) *
RNyxy (GEAL) 1, 800 X2, 600 __10f~20# 0000 B8 9,910 9,910 9,910 9,910 ¥
Nyxy (BRTAL) 2, 000 X2,900 108K 0000 B/ 8 10, 800 10,800 10,800 10, 800) *
Nyxy (BrTL) 2, 000 X 2,900 108~ 20% 0000 A8 11, 700 11, 700 11, 700 11, 700 *

162

16_H PR % #(H26.11.1).x1s 15/15



